Class Activity # 12                                                                                               SCI 1300 


Names:__________________________________________________________


__________________________________________________________

This is a continuation of Class Activity 11. You will investigate the third principal case and analyze this ‘Dynamical Hard-Weinberg’ model for natural selection. 
1. Consider the Case 3 scenario with survival rates 1.03 for (RR), 1.00 for (RB) and 1.09 for (BB). 

· What happens in the long run to the allele ratio? 

· Does the long-term behavior depend on the choice of your initial allele ratio? Investigate very carefully!

· In this particular case there are again three allele ratios that form equilibriums. Find these three allele ratios. (Two of them are ‘trivial’ and not very interesting.) 

2. In which of the three principal cases does it happen that both alleles survive? Which cases lead to the extinction of one of the alleles?  

3. Is it true that the “fittest” genotype always survives? Is it true that the genotype with the least survival rate always becomes extinct? 

4. Do you think this model is a realistic description of the process of natural selection?
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